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EXAM V
CALCULUS AB
SECTION I PART A
Time-55 minutes
Number of questions-28

A CALCULATOR MAY NOT BE USED ON THIS PART OF THE EXAMINATION

Directions: Solve each of the following problems, using the available space for scratchwork. After examining
the form of the choices, decide which is the best of the choices given and fill in the box. Do not spend too much
time on any one problem. . ‘

In this test:

a Unless otherwise specified, the domain of a function f is assumed to be the set of all real numbers x for which
Jf(x) is a real number.

(2) The inverse of a trigonometric function f may be indicated using the inverse function notation f ! or with the

. -1 .
prefix “arc” (e.g., sin "x = arcsinx),

1. If y=cos’(2x), then’% _ ¥cBasn ”‘LLQ
(A) 2cos2xsin2x j:[(_@s(&x)]

i (B)i —~4sin2xcos 2x | 0 |
(C) 2cos2x , j -t (Q[C:OSCJX)]"‘S';A(&;X)o 9
(D) —2cos2x — R |

3)2 -4 éos(élx)sin(ﬁx>

(E) 4cos2x

Ans

B
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1111111711717
=l
/' /77777777
/@////////

X ML Al solution curves for the differential equation  yok—
have the same slope for a given value of x. ‘ R

2. Aslope field for a differential equation % = f(x,y)

is given in the figure at the right. Which of the
following statements are true?

\/I. The value of % at the point (2, 2) is
approximately 1.
l/II.

As y approaches 8 the rate of change of y
approaches zero.
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(A) Tonly (B) Ionly | (C) lI andIIonly (D) II and IIl only (Ei LII, II
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_ ' o
3.  The slope of the line tangent to the graph of -y = In VX at (€2,1) is : _ G
2 ‘ ' - ~N
@ £ ® 5 Ol  © 5 ® = @
2 e 2e” 2e e [
| a1/ . o :
j ':jn(X) j = ;(;) : ) Q;;
' oy ( . ' @
jzs,pn)( ‘j("ﬂ:;(a" -:5-;_ Ans G’j
a < - EC-I—' @
, G|
4.  Which of the following funcuons is both continuous and differentiable at all- x in the @ '
interval -2 < x <27 S . -
. . @
A) fx)=|%* 1] | | | G
| @
®) f(x) =x* -1 . -
3 o ‘ @
[ ©) £ =5 +1 | o
| 1 @
D = i Ve ) -
O f) =7y VA x=l,- | -
(E) none of these _ _ ‘ @
(o
Ans C;
C 175
| ~ - @
5. Find the point"on the graphof y = +/x between (1, 1) and (9, 3) at which the tangent to the - @
graph has the same slope as the line through (1, 1) and (9, 3). 3- ( z -
Y/Wp(gf{a) A) (1, 1) . x/;ﬂ,/d% MyT* sed U’ ,? | :§ :é Q}/
£le)"7-a ® @12) o b -
© (,¥3) g% =5 | g_
. /j/"
D} 4,2 = : = = ,
(E) none of the above ‘ 2Jx 4 4 ’ g%,,,
peintid 2 G
| v
I (3,3) > ' o | | | -
i V ik JX=2 | @
--::'—-H—F#—-ﬁ—!——i—\—-}— Ans @
: 5 v
X=Z =l D -
‘ ) ' " Copyright 2008 Venture Publishing : Uy




" Calculators

EXAM V Section I Part A 99
X
6.  Consider the functlon Jx) = 3 o The derzvattve of f attains its maximum -
' valueat x = %‘/M%’mum occuqap \/-D%z, "{\“(X) 0
(A3 “‘fo ——~5X4
o A VRAVA
: : ) 2 i . 3 -
©5 ‘(\(K)‘: X. 3)( ,,=_5.~¢{x . *‘__l_‘gﬁ‘\——
Do , 2 2 x)
. . O = é)( - QX Mex w!LQA«Q oczmlx ﬂ% '—3
(E) there is no maximum ,,L
0= 2x*(3-x) Sivee K1) hages foomm 4
i Ans
X= oJ, 3 A

7.  The acceleration, a(?), of a body movmg in a straight line is given in terms of time ¢ by
a(t) = 4 - 6¢. If the velocity of the body is 20 at = 0 and if s(¢) is the dlstance of the
body from the origin at time ¢, what is s(3) - s(1)?
vio)=20
(A)-10 :

a(t): H-(€ 3 | X |
®) 0 f Ve = s(3)-s( f)
[ K

© 10 V[{) Jé» ét&t / ? 2
e N\ 4t-3¢> =4t 33,
D) 20 l/[t) i 41{—({/ e J:% 3t ¢ Qo lt Lf_i_ ‘% 120¢
' e - +2:>) '

@30
. Ans
E]

|2(3)- 32209 -(3
L 1y-2FHE0 =21
=|3¢ |

JO = o—ot
V(= 4t-5¢ 120
8. 111),}(_—‘”""3"2) - o LH ,/,,,,,, 2[):43) o

1-x XS b

&

-/
("2(/&3)‘/‘_

2~ ?.

——

1=

i -
(A) 0.5
(B) 0.25
O o

@ -0.25

(E) -0.5
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100 EXAM'V . Section I Part A _ Multiple-Choice.

x—2x +1

for x #1
x-1 ‘

9. Let f be defined by f(x) =
k for x=1.

Determine the value of & for which S is continuous for all real x.

2 P
Ao bim X =2x%] e o [Y-i)(x/z

X231 x— = QO
®B)1 Xy > )
-(C)2 /
(D) 3 K=o

(E) none of the above

10. The average value of f(x)= e +1 on the interval 0< x <1 is

) 2x
@)e ® £ © =< ® 2-1 @ 1

v w/u‘//iém R . i/z ,
Jfaf/xux " ‘2(5" x"”‘) ' e+l =(e]

Jve w&( e - %) (€*°> R

11. A particle moves along the x-axis in such a way that its velocity at time ¢ > 0is givéh by
t

v = _e;_ At what value of ¢ does v _V attain its mlmmum" 5@/‘( v { ‘f): 0
(A) 0 V(t)_ {(f)“ t(') ARV,
(@1 € =

N

© e O= &(¢-1) e}—“’gﬂ/{-—z:o o |
(D) -1 +* t=y

(E) There is no minimum value of v.

Copyright 2008 Venture Publishing
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Calculators EXAM YV  Sectionl Part A 101
2. J‘1+)c
(A) 4Arctanx +C (B) 2 Arctanx +C © zA+x)+C
@21n(1+x)+€ (E) 2x* + 41n|x|+ C
-’ e, )M _ i [ ],
“ Sué’? "‘Q’(J Q-aapu« 2 w/*}(i_
bz l4x? g Sl
X
4% Lh[14x /+C/ :
“ 2x ) T Ans g
-3 )20 A w=p
— 13. Let f(x) = x* + ax®> + b. The graph of f has arelatlve maximum at (0, 1) andan
B inflection point when x = 1. The values of @ and b are
:;;,, A)a=1, b=-6 ‘F[X) = 4")( + :20()( ‘P [X’) 4’)(“" “"‘)X
bl ® a=1, b=6 \ 3 o= 4(0) 40
5% | ©) a=-6, b=5 " + {’() = 12x"+ 44 (. ) é L
| 0T 3 X) x4 - X 4
e f (D)“a =-6, b=1 O - lQ(’) + Qﬁ\ ) 2
- ® a=6 b=1 "’2,:024
az-¢ |
T Ans
R
14, ! = dr =
L_(é){lnz-% (B) 1n2+1 © l ® %

'in»x Ax ﬂl I+-] __.ﬁ,;zs»é!-(ﬂ/'}*’)
A

Al

ha-p o F

' Copyright 2008 Venture Publishing
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102 EXAMV Section I Part A Multiple-Choice =
5 :é X' 15. The edge of a cube is increasing at the uniform rate of 0.2 inches per second. At the inistant N
3 when the total surface area becomes 150 square inches, what is the rate of increase, in cubic O
\/:X inches per second, of the volume of the cube? -
A) 5 in¥/s <o f 2 ( 3 ; , ,
Iy (A) 101.113/ec L)‘é)e V':X f V“/ 3 5‘ N
C«; - M ‘ n-/sec ‘S‘Oq, é 2 ' —— : - — @
A '«l”‘/ ©|15in¥sec ! S: % aVV‘_ 3 M > 2
in3 29 =% T+ — Sy .
g_‘ | 5,0;“2 (D) 20 in3/sec =x ﬂet X J‘t _
= (E) 25 in3/sec §_ ¢ : @
oi"_/ — - of V 5)"?. { @
ﬁ( 2 . 0 - ( = Ans @
A9 . /{ T C. ;E
¥ (- sab N -
16. f"dx - - e X a2l -
2 V142 ;ai— X Jus 7% T 2 |K du @
1 - | | w
@2 e A J3 -
. : . -
/ h X ‘—|/ l+3 —'\)“+G r
2 : A -
() 2 £X /2 N :"
(D) In2 = 4 = | @
(E) Arctan2——} =2-14
Ans 7 C:
Qﬁ
17. Which of the following is true about the graph of f(x) = lnlx2 - 4| in the interval (-2,2)? -
% (A) f is increasing. G-
% (B) f attains a relative minimum at (0, 0). Z« /6( ‘Z)CK -(Q) 1 C-
X <C), f has a range of all real numbers. , -
'// (_D)' f is concave down. /ﬂh ()(_Zrﬁ +ﬂ[)(+2f -
X (E) f hasan asymptote at x = 0. ; -
Ve C.
¥)Zxiy 2o (x2u)” 7 e g)* c.
| ¢
2 4
£76 = (34 =(2)(4x) _— = -
— 3 2 B Ans -
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Calculators ' EXAMV Section Part A 103

18. If g(x) = Arcsin 2x, then g'(x) =
(A) 2Arccos 2x (B) 2csc2xcot2x _(C)

2 2
® Vax? -1 ® J 1-4x?
of u’ , 2 2
'f‘arCs;nux’-‘ DE— | x):
x Urcu> j Ji -(2x)* VI-4x2

2
1+ 4x?

19. [x(*-1D* ax = U X “QX - JLL

@ L -rec gy T

| ( (B)] %(x2 “D+C J;V u"t 41

©) %(x3—x)5+C
/ | 5
1 - n
@) (*-D°+C > MHJM = 5“? + C
E) %(xz-x)5+C (__‘___/——ST——\
‘ ?
| 7‘ ,-D'(x )+ C } @
5 o |
20. If y=¢", then % = ‘ ,)-.: ek"; 'k: &
. (A) ke ‘ " ,
)‘- X g
Z(B)lkse’“ : j € K
(©) Sle™ ;

(D) Ste* ' kx = &

OV AR
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104 EXAMV Section I Part A Multiple-Choice Gt
21. The graph of f is shown at the right. the graph of f 1
Which of the following statements are q
true? £ )- | s
X 1 fQ@> fa) 1
£11)=1 : 1
'\/ I dx > 3.5 -/ : £
f (x) f'3.5) 5 > _l v
-4 3 2 7 4l 2 4
- /
Y I j f(x) dx > j f(x) dx - 2
-1 J
- ol
I >~
(A) Ionly ( ®)|Donly  (C) IandWonly (D) HandMionly (E) LIL I
;

Rl

22. If g(x)=x(x -1, then the{domam of g’ 1s,
A) {x] 0 <1} D: /% «s [Ooé) s

(B) {xlx;tO'andx:tl} ﬂ()(_) "X /2'}(3?) -\-&‘ 6{.4)
[@{x|0<x<1 orx>1} - (x‘,)/f JJ__ J{X*')"’g

Zx-l +3

nse-) y 3 3 o 3 i ; ] R

S

+ /‘_*
® {x]0<x<i) TER ey )
(E) {x| all real numbers} ﬁ( ) yﬁ_‘_\

)} X?OJ X-f' | O s
ER)” TS

0000000000000 0Cec ()

23. A panicle moves along the x-axis so that its distance from the origin at time ¢ is given by
10¢ — 4¢*. What is the total distance covered by the point between # = 1 and ¢ = 2?7 «

(A) 1.0 2 <
J ¢ (B) 1.5 4 - t + G o

{ .27 = (C) 2.0

B
. e T
oo moTm LT Toon ST T D D D D

R— e

)] 2.5 ) ‘é~b 2.5 c
P xlmo-5t :
O=2(5-4t)

X()=¢ N

X((.zg)zéﬂ(ﬁs—>&'ai\ ;@ | @‘

y( a} - (_'/.. >2.2.5

Copyright 2008 Venture Publishing




Calculators EXAM YV Section] PartA 105 0

24. At which point on the graph of y= g(x) below is g’(x) = 0_and g”(x) = O" Con Mm}, ,SO%I)

i 3
grapﬁofg ) /,‘E\‘ ¥ ’ ,
slope 18 2670
= ’f !
‘ -3 2 1 B 1 2 3 4
A™ B »
-3
(A) A B)B © C @]D (BE) E

Ans

25. Ify is a differentiable function of x, then the slope of the tangent to the curve
2 . . - - ! .
xy -2y +4y” = 6 atthe point where y = 1is X(i)-aﬁ-Lr =( X = 4 fmw;(l'f)/)

\

) 15 ®)|-15 © -3 O3 ® -2

e 1+ 76&’/
»1)”{,5«) J(ij‘* Xj( ) "/z-WH
() +Z) +4(%)<o *

26 The area of the region bounded above by y =1 + sec? x, below by y 0,on thé left

by x = 0 and on the right by x = —15 is approximately

A1 (B) 1.25 (C) 1.5 f (D)il.75 (E) 2 -
‘ /4 _ ‘{Mf
YA ~ {+ S’Cg,i)(oex /k
> ,
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104 EXAMV  Sectionl Part A Multiple-Choice

2?) A Sa{u‘,?m 6@ the equation % +2xy =0 that contains the point (0, ¢) is

3) j = o Ax QX;,

{ =c
3 JER A | ]
I AR R PRy
(E) y=e* 2
’ 0? ﬂ,//: x4
7). 'a?xu& P’Zg}fn C’l A 2
j ,)([Je“‘) 9[: e H check

- —x A (()ff)
K‘/J/:'gm/ J°c o

AR R AR R PP PP PP PPN S X T i s

( 2
/K /J /: - X _‘L C,, ‘ Ans
28. Which of the following are true about the function F(x) = _fln(Zt -Dd?
vy F(l) = v II. F'(l)= yF”(l) =1
(A)|I and II only
(B) 1and I only r(">‘ f/ (2¢- /)J)ﬁ = A (ix‘”‘>
- (C) II and III only
(D) 1,11, 11l F(’); ﬁ“((g(')ﬂ) c O c
(E) none s 2 G
F x )= 2“;3 C
G
1
Tl 2
<= C. !
“
0
Ans wrs lI
/,5'7/%;* :;|
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106 EXAMYV Section‘l Part A

Multiple-Choice

27. A solution of the equation % +2xy =0 that contains the point (0,e) is

A) y=e*
B) y= et
©€) y=¢*
(D) y - el+x

E) y=e"

Ans

28. Which of the following are true about the function F (x) = j‘ In(2t - 1) dt ?
L F)=0 II. /=0 F'()=1 1
(A) T and II only
(B) Iand III only
(O II and I1I only
(D) L1, 111
(E) none

Ans

Copyright 2008 Venture Publishing
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EXAM V
CALCULUS AB.
SECTION I PART B
Time-50 minutes
Number of questions-17

A GRAPHING CALCULATOR IS REQUIRED FOR SOME QUESTIONS ON
THIS PART OF THE EXAMINATION -

Directions: Solve each of the following problems, using the available space for scratchwork. After examining
the form of the choices, decide which is the best of the choices given and fill in the box. Do not spend too much
time on any one problem.

In this test: : ‘ :
(1)  The exact numerical value of the correct answer does not always appear among the choices given. When this
happens, select from among the choices the number that best approximates the exact numerical value.

(2  Unless otherwise specified, the domain of a function J is assumed to be the set of all real numbers x for
which f(x) is a real number. .

(3  The inverse of a trigonometric function Jf'may be indicated using the inverse function notation f 1 or with

| .
the prefix “arc” (e.g., sin_ x = arcsinx),

1.  How many points of inflection does the graphof y = cos x + %—cos 3x - %cos 5x have on

the interval 0< x < ? > ‘ s : ’
= Tsmx =3sadx-3 3 L0

A) 1 J , | ;A 5

B) 2 j T SiAy - S?/ASX—)-;»;\ Sy

© 3

D) 4

'5

2.  Oil is leaking from a tanker at the rate of R() = 500e™ % gallons per hour, where ¢ is
measured in hours. The amount of oil that has leaked out after 10 hours is closest tg

(A) 2140 gals 10
" (B) 2150 gals Amount = ROM = 214! (62
Ej(E}LIZIGO gals , 0
(D) 2170 gals |
(E) 2180 gals

Copyright 2008 Venture Publishing
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108 EXAM V Section I Part B

Multiple-Choice

the function
S(t) = 0.46 cos(0.45: +3.15) + 3.4

| 3. The sale of lumber § (in millions of square feet) for the years 1980 to 1990 is modeled by

where ¢ is the time in years with t = 0 corresponding to the beginning of 1980. Determine
the year when lumber sales were W ihew s ¢ ) Mae J.,[‘,,;,,., + 4o ~

ﬁw& SU&) =044 (- 5in (04544305))- 0.45 + ©
B .

(POT)

1983 , .

(C) 1984 § (ﬂ_ / POZ of s()

(D) 1985

(E) 1986

Ans
4. The graph of f over the interval [1, 9] is shown ) the. graph of f :
in the figure. Using the data in the figure, find 3 ;&
a midpoint approximation with 4 equal t ’ \]
1

- m——
—

b= bn L

9
subdivisions for j f(x) dx. g
1

(A) 20 B)21 ©) 22 (D) 23

volume of the solid is approximately
“(A) 0.52
(B) 0.79
(©) 1.05
D)/ 1.57
(E) 2.00

ti
S-w"&)ﬂxx 2+ f(2)+ 244y +2-F6)t2-1(2)

Ans
2l +2-4 +2:3 423 :’@

5. Let the base of a solid be the first quadrant region enclosed by the x-axis and one arch of the
graphof y = sin x. If all cross sections perpendicular to the x-axis are squares, then the

4@% = [éa’sej -

i/o,u,u, :j{s,’nx]i@ = LS;ZI
A _, -

Copyright 2008 Venture Publishing
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Calculator ‘ EXAMV Section1 Part B 109

6. If f(x) = 2x + sin x and the function g is the inverse of f, then gQ) =
e e Wy

(4) 0.32 L=dx+3/n %
(B) 034
'Cglfo.s'a O=dx+sing= 2.
) 0.38 N _
(E) 0.40 X x04% 4

f'_‘j - ObeH | | ,
2 1y=2 |5ty o5y “pgx)“z iaade
= * ( £0.604) <L +e3(5-44 )
A"FI( )323?"-1 J ()= 2775 = 2. 725

' ﬁ-é?/ir " o3 | <]

7. Administrators at Massachusetts General Hospital believe that the hospital's expenditures
E(B), measured in dollars, are a function of how many beds B are in use with

E(B) = 14000 + (B + 1)

On the other hand, the number of beds B is a function of time t, measured in days, and it is
estimated that , ‘

B(f) = 20 sin(fa) +50.-
B = Zosia (1 ) + 450
At what rate are the expenditures decreasing when ¢ = 100? 29

—

(A) 120 dollars/day B=3%19

(B) 125 dollars/day i ¥ 4% \
(©) 130 dollars/day NCIE PV 137‘/)‘, B’({)/\ s rady

Z (D)| 135 dollars/day
- (E) 140 dollars/day E JC\-” i 0

‘9/(0:&0%{%)(%) |

L= 80 2200y £
- - ../_ {:r?_ ?

:J(ﬁ//?ﬂ)(%ﬂ@ x~ "/3425%%&4 |

;L

Copyright 2008 Venture Publishing
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8. Let f be afunction that has domain [-2, 5]. The graph of The graph of f’ '
f’ is shown at the right. Which of the following ) ' O =
statements are TRUE? \ : I / W
V1. Jf has arelative maximum at x = —1. _-z ' z - m=o gj;
¥ 1II. f has an absolute minimum at x = 0. . \ / NS ] & GJI; ?
v III. The graph of f is concave down for -2 < x < 0. .
IV. The graph of f has inflection pomts at x = 0 and @ i
X = 2 andx = 3 ' ’ Cﬂr’“%
A) LILIV Z(Bi LIOLIV (C) ILIIL IV ®O) LiLm (E LILILIV @
) ) ] ’ ) ’ ) ’ ) 1] ’ Q}] ;
A Al ) /\ U ﬂ ;
O R ARARALL A
b ——t—— o
-l o245 =2 0 %234 Ans o
9.  On which interval is the graph of f(x) = 4x3? ~ 3x% both concave down and increasing? ? b
T , 7} A!
W OD LAY A {0 LixYso C -
)= 73 >< - 6X - 7
® (03) TS oy -
_Cu P /2_ ; : J;("‘ €Ex x¥=0 | G}
o) FBtet SRy [0 @
A
11 - 3 f - + C) .
. D |5.7 oo - '—vaé . A &
. 472 I { ,
; [‘ 1 o /! @
! 'F ' - /—\ . 63
-4~ / 23— Ans ==
3¢ x= M ° % £ G
10. The average rate of change of the function f(x) = x% - .lx_ over the interval [0, 3] equals the g:’
Z
W M U} ¢lo )mstantanous rate of change of fatx = ; ¢ o
[ e
6() ‘P(é 4 (A) 0313 (B)[ 1.553 (C) 2573 (D)3.317 (E) 9.950 @ -
| ._.___ = £95 i =5’.7§-(—12 2
£( 3)=3 5 [ A+ o -~ i
( @_//,W.
i ‘G(O = T e— - 1 - &
: \ Dedoe 33147 = 0 @
Y. Frz)-te) e 2 = .
RORATE | — w
X _{: ZX ) sz ] e__x Copyright 2008 Venture Publishing | '\\d é;j»




Calculator EXAM 'V Section ] Part B 111

11. Ifsin3x-1 =jf(f) dt, then the value of a is ‘96033K = 'p(x)

A0 L}(f‘)ﬂt 2SI ~| :'[S;Agﬁl - (J

B) 1 . |
© -1 53—z s»’)&?/] - 5703t ]
T e . )
@:6’! O:~5‘rh3ﬂ+/ J’?&L:T%’
SonRa = 4/.

Ans
S

34_ = S?ﬂvx v,(()

12. If xy* = 20 and x is decreasing at the rate of 3 units per second, the rate at which y is
hanging when y = 2 is nearest to T
changing w y fieare X( P»{b.&! wet I“(Z) /’&é&‘é?tp Véz’i‘e’(

~0.6 uni
(A) units/sec f_gg = 3wt /

2
(B) -0.2 units/sec = &XJ =d» 0(]
| : A g _g-)
(C) 0.2 units/ - ax . <
unf s/sec az_g = \At)[f) + X QJ(M D
| Z(D)!0.6 units/sec ., | j
(E) 1.0 units/sec j = & C'j)(.ﬁ), + 522 0"(%) 20
Xy =@t —11+;2c>(3f1)
Xi)=0 x=5 |

2
13. An approximation for fes‘"(l'sx'l) dx using a right-hand Riemann sum with three equal

-1 A ~
‘subdivisior_l\i is ne:je;z z\ - b - C~l) . - N=3
A) 2.5 ! - e < . o
&) n 3 3= Ffd
(B) 35 B T

©)] 45 J‘?&MX@ l(f(df) +[.1é(,}+l_p/2) V6 2
-l

0431+ .45y 2483 |

f8): 5" 1 & g 505 N




110 / Section I Part B

Multiple-Choice

\
l lﬂ Let f be a functi dy  cosx
- 1

f’ is shown and dx X2
statements - 9
1
L f 'mum.
II.

'

I

ection and two relative extrema.
flection and one relative extremum.
flection and two relative extrema.

flection and two relative extrema.

which of the following statements

15. The graph of the function f is shown at the
right. If the function G is defined by

G(x) = [ f(t) dt, for -4 < x <4, which of
-4
the following statements about G are true?

I. G is increasing on (1, 2).
II. G is decreasing on (-4, -3).
III. G(0) <O0.

(A) None (B) II only (C) II only

graph of the function f

3

2

graph ofif

i
|

X
Al
N
3
3

(D) II and III only

(E) Iand IT only

Ans

Copyright 2008 Venture Publishing

COOT

5

5 2

O

i

bz o 4

Q@Q@Q@QQ.@QQQQQQQQQQQQQ

il

e B T

O

-

>




e 112 EXAM V Section I Part B Multiple-Choice
\ﬁ\) 14. If f(x)isdefinedon -t < x <® and z ——CZQ i—xl , which of the following statements
X

about the graph of y = f(x) is true?

(A) The graph has no relative ex\gremum.

(B) The graph has one point of inflection and two relative extrema.

(C) The graph has two points of inflection and one relative extremum.
The graph has two points of inflection and two relative extrema.

(E ,The graph has tﬂhrie points of inflection and two relative extrema.

(g W/m;/\)) ( 2 x-/’n‘VL)')

’F ;(3() 3”7’ L‘)ﬁz

. {9 [N
'”.}gfl'o" ‘&(’klm

MYARV

poL PoL Ans

=

/) 15. The graph of the function f is shownatthe _, graph of th“' function f 3 (3 (x)
right. If the function G is defined by )C ( '(J =1(’(5() gmph &
G(x) = j £(2) dt, for —4< x <4, which of Iz S
the follow4ing statements about G are true? TN /¢ S A m=0
X 1. G isincreasing on (1, 2). 4 N &j
V II. G is decreasing on (-4, -3). ’ 3
T G(O)<0.

(A) None (B) II only (CIlonly /(D) k1 and 111 only (E) Iand II only

S /ofe sy e ’{ 66()

G(o)= ) HoM = -l+-2=-3<0 5
- t—r .
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Calculator EXAMV Section I Part B 113

X +hkx-3 forx<1
3x+b for x>1. )
For which of the following values of k and b will the function f be both contmuous and '

WOH its entire domain? _yége'}' M—Abwf f/?cewu'e 5144/( 4%)( - I

(A) k=-1,b=-3 ¥ se‘f ofenbaﬁ'fﬂ U{/lece'vu'( uef “% x=/
® k=1,b=3 g&

16. The function S is defined on all the reals such that f(x)= {

d/'(‘)(_/) &)‘Lx )
© k=1,b=4 A x=1
O Jk=1b=-4 ><+kx—3 3><+L vt k=3
®k=-1b=6 2,k 3=34L | 24k=J

i+l-3-3+é = k=

= = 344

(=41

Ans
D —~

17. A particle moves along the x-axis with velocity at time ¢ given by: v(f) = ¢ + 2sin¢. If the

particle is at the origin when ¢ = 0, its position at the time when v = 6 is x =

(A) 17.159 ( (B)( 19.159 (C) 23.141 D) 29.201 (E) 39.309
)('(0) =0 ¥ -F,M,,O ({&pS‘)‘l’;bk _/"'{')JJDMF/% 7"'/(1 r/o/dcerM
) - XC/J = x(a) +. v(th
Vlﬁ):zf-h}?smt . o
= t+dsnt X(CAsEF) = x(o) 4 s

f«@dl%

O= T+ Qsl'n]{-é ) ﬁ———————-’—’—f’;/\
£ = (1587 '\x(gm(%) = JTI36 T

e —————

T
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